g T ;
= £ 100
2 5ol Input RO=77.4, Sig=2.8, kb=0.1 g
&) E 2
C < 80
40l !
30k 60
20(- 40
10_— 20
ol
_IIIIIIIIIIIIII|||IIIIIIIIIIIIIIIIIIIIIIIIIIIII IIIIIIIIIlIIIIIIIIIIIIIIlII
O 10 20 30 40 50 60 70 80 90 % 30 40 50 60 70 80
WET (mm) RO
J -
L 2 L
b L
i : 7000
250001 : -
C » -
i y 6000
- d -
20000 -
i 5000
15000 40001
C 3000
10000~ :
L 2000
5000 -
1000
O-IIIIIIIIII I IIIIIIIIIIIIIIlIIIIIIIIIIIIII O_IIIIIII III|IIIIIIIIIIIIIIIIII
o 1 2 3 4 5 6 7 8 9 10 0 005 01 015 02 025 03

sigma kb



	Contents
	Page 1


